
  S1 
  

Supporting Information 

 
Aqueous N-heterocyclization of Primary Amines and Hydrazines with 

Dihalides: Microwave-assisted Syntheses of N-azacycloalkanes, Isoindole, 
Pyrazole, Pyrazolidine and Phthalazine Derivatives 

Yuhong Ju and Rajender S. Varma* 

Sustainable Technology Division, National Risk Management Research Laboratory, U.S. 
Environmental Protection Agency, 26 W. Martin Luther King Dr., MS 443, Cincinnati, Ohio 

45268, USA. 

Fax: 513- 569-7677; Tel: 513-487-2701; E-mail: varma.rajender@epa.gov 
 

Contents 
 

S2 Experimental Procedure 
 
S4 Figure 1. Typical MW reaction condition profile 
 
S4 Characterization of compound 3h 

S5 Characterization of compounds 3l, 3s 

S6  Characterization of compounds 3ad, 3ae 

S7 1H and 13C NMR spectra of compound 3h 

S8 1H and 13C NMR spectra of compound 3l 

S9 1H and 13C NMR spectra of compound 3s 

S10 1H and 13C NMR spectra of compound 3ad 

S11 1H and 13C NMR spectra of compound 3ae 

S12 Refenences 

 

 



  S2 
  

Experimental procedures: 

General 
 

All starting amines, hydrazines, and alkylhalides were used as obtained. 1,3-Propane-diol-

ditosylate, and 1,4-butane-diol-ditosylate were prepared according to literature.1 1,3-dichloro-

1,3-diphenylpropane was synthesized by the reaction of benzaldehyde and styrene using boron 

trichloride.2 The crude products were identified by GC/MS qualitative analysis using a GC 

system with a Mass selective detector. The identities were further confirmed by 1H and 13C NMR 

spectra that were recorded for the pure products in chloroform-d (CDCl3) with TMS as internal 

reference using a 300 MHz NMR spectrometer; the exact masses of unknown compounds were 

obtained using electronspray ionization from a Quadruple Time-of-flight (Micro) high resolution 

mass spectrometer. 

Typical procedure 

Synthesis of azacycloalkanes: 1.0 mmol aniline (0.093 g), 1.1 mmol 1,4-dibromobutane 

(0.237 g) and 1.1 mmol potassium carbonate (0.162 g) in 2 mL distilled water were placed in a 

10 mL crimp-sealed thick-walled glass tube equipped with a pressure sensor and a magnetic 

stirrer. The reaction tube was placed in a Focused Microwave Synthesis System, operated at 120 

+ 5 oC (measured by an Infrared temperature sensor) for 20 mins with a 3 mins ramp time, power 

80 - 100 Watt and pressure 40 – 80 psi for 20 minutes. After completion of the reaction, the 

organic portion was extracted into ethyl acetate. Removal of the solvent under reduced pressure 

and flash column chromatography using hexane/ethyl acetate (90/10) as eluent to afford the 

crude product 1-phenylpyrrolidine in 89% yield. Satisfactory 1H and 13C NMR data was 

consistent with those found in literature. 



  S3 
  

Synthesis of 2,3-dihydro-1H-isoindoles: 1.0 mmol aniline (0.093 g), 1.1 mmol 1,2-

bisbromomethyl-benzene (0.270 g) and 1.1 mmol potassium carbonate (0.162 g) in 2 mL 

distilled water were placed in 10 mL crimp-sealed thick-walled glass tube equipped with a 

pressure sensor and a magnetic stirrer. The reaction tube was placed in a Focused Microwave 

Synthesis System, operated at 120 + 5 oC (measured by an Infrared temperature sensor) for 20 

mins with a 3 mins ramp time, power 70 - 100 Watt and pressure 40 – 80 psi for 20 minutes. 

After completion of the reaction, the solid product was separated from the aqueous phase and 

filtered, washed with cold hexanes for three times afforded the off-white solid 2-phenyl-2,3-

dihydro-1H-isoindole in 92% yield. Satisfactory 1H and 13C NMR data was obtained and 

consistent with those found in literature. 

Synthesis of 4,5-dihydro-pyrazole, pyrazolidine and 1,2-dihydro-phthalazine derivatives: 1,2-

diethylhydrazine dihydrochloride (1 mmol, 0.161 g), 1,2-bis-chloromethyl-benzene (1 mmol, 

0.175 g), 2 M sodium hydroxide (1 mL) and potassium carbonate (1 mmol, 0.138g) in water (2 

mL) were placed in a 10 mL crimp-sealed thick-walled glass tube equipped with a pressure 

sensor and a magnetic stirrer. The reaction tube was placed inside the cavity of a Focused 

Microwave Synthesis System, operated at 120 + 5 oC (temperature monitored by a built-in 

infrared sensor), power 70 - 100 Watt and pressure 40 – 80 psi for 20 minutes. After completion 

of the reaction, the biphasic system was allowed to stir in the air for 6 h and the product was 

extracted into ethyl acetate. The removal of the solvent under reduced pressure (rotary 

evaporator) and flash column chromatography using hexane/ethyl acetate (9/1) as eluent afforded 

the product, 2,3-diethyl-1,2,3,4-tetrahydro- phthalazine 0.114 g (60% yield). 



  S4 
  

The typical microwave-assisted reaction conditions in terms of temperature, pressure, 

microwave power and reaction time are shown in Figure 1. 

 

Figure 1. Typical MW reaction condition profile 
 

The spectroscopic data of synthesized compounds (3a-g, 3i-k and 3m-r), (3aa-ac, 3af-ai), 

(3’a-o) are in accord with the literature. 3a,3 3b,4 3c,5 3d,6 3e,7 3f,8 3g,9 3i,10 3j,7 3k,11 3m,12 3n,13 

3o,8a,14 3p,7 3q,7 3r,4b,15 3aa,16 3ab,17 3ac,18 3af,19 3ag,20 3ah,21 3ai,22 3’a,23 3’b,24 3’c,25 3’d,26 

3’e,27 3’f,27 3’g,28 3’h,29 3’i,30 3’j,31 3k,32 3’l,33 3’m,34 3’n,35 3’o.36 

Characterization of unknown compounds:  

Et N
 

1-(4-Ethylphenyl)-pyrrolidine (3h). The reaction of 4-ethylaniline (1.0 mmol, 0.121 g), 1,4-

butanediol-ditosylate (1.1 mmol, 0.418 g) was carried out as described earlier and produced 

0

20

40

60

80

100

120

140

0 200 400 600 800 1000 1200 1400

Time (s)

Temperature (C)

MW power (W)

Pressure (psi)



  S5 
  

0.154 g (88%) of 1-(4-Ethylphenyl)-pyrrolidine as a yellow oil. 1H NMR  (300 MHz, 

CDCl3/TMS) δ ppm 7.04 (dd, 2H, J = 8.4, 4.1 Hz ), 6.51 (d, 2H, J = 8.5, 4.2 Hz), 3.23 (t, 4H, J = 

6.6 Hz), 2.50 (q, 2H, J = 7.5 Hz), 1.94 (t, 4H, , J = 6.6 Hz), 1.18 (t, 3H, J = 7.5 Hz); 13C NMR 

(75.5 MHz, CDCl3/TMS) δ ppm 146.4, 131.3, 128.6, 111.9, 47.9, 28.0, 25.5, 16.2; MS (EI) m/z 

(relative intensity, %) 175 (M, 53), 174 (M +, 30),  160 (100), 119 (11), 118 (9), 91 (6), 77 (5). 

calcd (M+H)+ for C12H17N: 176.1439 (C12H18N
+), found (M+H)+ 176.1433. 

N
O

O

Et

 

4-(2-Methylpyrrolidinyl)-benzoic acid ethyl ester (3l). The reaction of 4-amino benzoic acid 

ethyl ester (1.0 mmol, 0.165 g), 1,4-dibromopentane (1.1 mmol, 0.253 g) was carried out as 

described earlier and produced 0.207 g (89%) of 4-(2-methylpyrrolidinyl)-benzoic acid ethyl 

ester as a yellow oil. 1H NMR  (300 MHz, CDCl3/TMS) δ ppm 7.91 (d, 2H, J = 8.5 Hz), 6.52 (d, 

2H, J = 8.4 Hz), 4.32 (q, 2H, J = 7.2 Hz), 3.96 (q, 1H, J = 6.4 Hz), 3.46 (m, 1H), 3.24 ((m, 1H), 

2.05 (m, 3H), 1.80 (m, 1H), 1.36 (q, 3H, J = 7.0 Hz), 1.18 (d, 3H, J = 6.5 Hz). 13C NMR (75.5 

MHz, CDCl3/TMS) δ ppm 167.2, 150.2, 131.0, 116.5, 110.8, 60.0, 53.7, 47.9, 32.9, 23.1, 18.9, 

14.5. MS (EI) m/z (relative intensity, %) 233 (M, 29), 219 (16), 218 (100), 190 (36), 188 (19), 

145 (7). HR-MS (ESI):  calcd (M+H)+ for C14H19NO2: 234.1494 (C14H20NO2
+), found (M+H)+ 

234.1508. 

N

 

1-Benzyl-pyrrolidine (3s). The reaction of benzylamine (1.0 mmol, 0.106 g), 1,4-

dibromobutane (1.1 mmol, 0.231g) was carried out as described earlier and produced 0.143 g 

(89%) of 1-benzyl-pyrrolidine as a yellow oil. . 1H NMR  (300 MHz, CDCl3/TMS) δ ppm 7.24 

(m, 5H), 3.53 (s, 2H), 2.42 (m, 4H), 1.70 (m, 4H, J = 4.6 Hz). 13C NMR (75.5 MHz, 



  S6 
  

CDCl3/TMS) δ ppm 139.4, 128.9, 128.2, 126.9, 60.8, 54.2, 23.5. MS (EI) m/z (relative intensity, 

%) 161 (M, 69), 160 (M +, 96), 91 (100), 84 (56), 70 (34), 42 (19). HR-MS (ESI):  calcd (M+H)+ 

for C11H15N: 162.1283 (C11H16N
+), found (M+H)+ 162.1286. 

NEt
 

2-(4-Ethylphenyl)-2,3-dihydro-1H-isoindole (3ad). The reaction of 4-ethylaniline (1.0 mmol, 

0.121 g), 1,2-bischloromethyl-benzene (1.1 mmol, 0.195 g) was carried out as described earlier 

and produced 0.196 g (88%) of 2-(4-ethylphenyl)-2,3-dihydro-1H-isoindole as a yellow solid. 1H 

NMR  (300 MHz CDCl3/TMS) δ ppm 7.29 (m, 4H), 7.14 (d, 2H, J = 8.4 Hz), 6.62 (d, 2H, J = 

8.5 Hz), 4.61 (s, 4H), 2.57 (q, 2H, J = 7.8 Hz), 1.22 (t, 3H, J = 7.8 Hz ); 13C NMR (75.5 MHz, 

CDCl3/TMS) δ ppm 145.4, 138.2, 132.0, 128.8, 127.1, 122.6 , 111.7, 54.0, 28.0, 16.1;  MS (EI) 

m/z (relative intensity, %) 223 (M, 71), 222 (M +, 100), 208 (33), 206 (11), 193 (4), 165 (4), 104 

(6), 90 (5), 77 (4). ); HR-MS (ESI):  calcd (M+H)+ for C16H17N: 224.1439 (C16H18N
+), found 

(M+H)+ 224.1440. 

N
 

2-Indan-5-yl-2,3-dihydro-1H-isoindole (3ae). The reaction of indanyl-5-amine (1.0 mmol, 

0.133 g), 2-bischloromethyl-benzene (1.1 mmol, 0.195 g) was carried out as described earlier 

and produced 0.197 g (84%) of 2-indan-5-yl-2,3-dihydro-1H-isoindole as a light yellow solid. 1H 

NMR  (300 MHz CDCl3/TMS) δ ppm 7.29 (m, 4H), 7.14 (m, 1H), 6.54 (s, 2H), 6.49 (t, J = 8.2),   

4.63 (s, 4H), 2.86 (t, 4H, , J = 9.8 Hz), 2.04 (m, 2H); 13C NMR (75.5 MHz CDCl3/TMS) δ ppm 

146.2, 145.6, 138.1, 132.2, 127.1, 124.9, 122.5, 110.1, 108.0, 54.3,  33.4, 31.9, 25.8; MS (EI) m/z 

(relative intensity, %) 235 (M, 61), 234 (M +, 100), 233 (14), 115 (9), 104 (4), 91 (4); HR-MS 

(ESI): calcd (M+H)+ for C17H17N: 236.1439 (C17H18N
+), found (M+H)+ 236.1436. 



  S7 
  

Et N

 

 

 



  S8 
  

N
O

O

Et

 
 
 

 



  S9 
  

N

 
 

 



  S10 
  

NEt

 

 



  S11 
  

N

 

 

 



  S12 
  

References: 

1 Kabalka, G. W.; Varma, M.; Varma, R. S. J. Org. Chem. 1986, 51, 2386. 

2 Kabalka, G. W. Wu, Z.; Ju, Y. Tetrahedron Lett. 2001, 42, 5793. 

3 (a) Bottini, A. T.; Nash, C. P.  J. Am. Chem. Soc. 1962, 84, 734. (b) Cerichelli, G.; Galli, C.; 

Lillocci, C.; Luchetti, L. J. Chem. Soc. Perkin Trans. 2, 1985, 725. 

4 (a) Horning, C. H.; Bergstrom, F. W. J. Am. Chem. Soc. 1945, 67, 2110. (b) Collins, C. J.;  

      Singaram, B.  ARKIVOC  2001 (iv), 59. 

5 Huang, Y.- L.; Lin, C.- F.; Lee, Y.- J.; Li, W.- W.; Chao, T.- C.; Bacherikov, V. A.; Chen, 

K.-T.; Chen, C.- M.; Su, T.- L.  Bioorg. Med. Chem. 2003, 11 (1), 145. 

6 Bunce, R. A.; Herron, D. M.; Lewis, J.  R.; Kotturi, S. V.  J. Heterocycl. Chem.  2003, 40, 

113.   

7 Ju, Y. H.; Varma, R. S. Org. Lett. 2005, 7, 2409. 

8 (a)  Xu, G.; Wang, Y. G. Org. Lett. 2004, 6, 985. (b) Lu, Z.; Robert J. Twieg, R. J.;  Huang, 

S. D. Tetrahedron Lett. 2003, 44, 6289. 

9 Tsuji, Y.; Yokoyama, Y.; Huh, K.- T.; Watanabe, Y. Bull. Chem. Soc. Jpn. 1987, 60 (9), 

3456. 

10 Åhman, J.; Buchwald, S. L. Tetrahedron Lett. 1997, 38, 6363. 

11 Howells, B. D.; McCombie, J.; Palmer, T. F.; Simons, J. P.; Walters, A. J. Chem. Soc., Fara. 

Tran. 1992,  88,  2595. 

12 Christensen, J. B.; Schioedt, N. C.; Bechgaard, K.; Buch-Rasmussen, T.  Acta Chem. Scand. 

1996, 50, 1013. 

13 (a) Li, G. Y.; Zheng, G.; Noonan, A. F.  J. Org. Chem. 2001, 66, 8677. (b) Beller, M.;  

Breindl, C.; Riermeier, T. H.; Tillack, A. J. Org. Chem. 2001, 66, 1403. 



  S13 
  

14 Wolfe, J. P.; Buchwald, S. L. J. Org. Chem. 1997, 62, 6066. 

15 Flaniken, J. M.; Collins, C. J.; Lanz, M.; Singaram, B. Org. Lett. 1999, 1, 799. 

16 (a) Meyers, A. I.; Santiago, B. Tetrahedron Lett.  1995, 36, 5877. (b) Bornstein, J.; Lashua, 

S. C.; Boisselle, A. P. J. Org. Chem. 1957, 22, 1255. 

17 Heidenbluth, K.; Franke, J.; Faltus, H.; Toenjes, H.; Schmidt, J.  Ger. (East) Application: DD  

19671219. 1969. DD, 69802  19691120. 

18 Suwa, T.; Sugiyama, E.; Shibata, I.; Baba, A. Synthesis 2000, 789.  

19 Hassan, A. A.  Bulletin of the Faculty of Science, Assiut University 1991, 20, 125.  

20 (a) Fujita, K.; Fujii, T.;  Yamaguchi, R. Org. Lett. 2004, 6, 3525. (b) Carpino, L. A.; 

Padykula, R. E.; Barr, D. E.;  Hall, F. H.; Krause, J. G.; Dufresne, R. F.; Thoman, C. J.  J. 

Org. Chem. 1988, 53, 2565. 

21 Kreher, R. P.; Seubert, J.; Schmitt, D.; Use, G.; Kohl, N. Chemiker-Zeitung 1988, 112, 85. 

22 Registry Number:  654635-00-4, Order Number: 7128992. http://www.chembridge.com. 

23 Shostakovskii, S. M.; Mochalov, V. N.; Voropaeva, T. K.; Shostakovskii, V. M.; Nefedov, 

O. M. Izvestiya Akademii Nauk SSSR, Seriya Khimicheskaya 1985, (1), 231. 

24 Nishiyama, H.; Arai, H.; Kanai, Y.; Kawashima, H.; Itoh, K. Tetrahedron Lett. 1986, 27, 

361. 

25 (a) Marchetti, L.; Poloni, M.; Greci, L. Gazzetta Chimica Italiana 1974, 104, 321. (b) Kitaev, 

Y. P.; Troepol'skaya, T. V. Izvestiya Akademii Nauk SSSR, Seriya Khimicheskaya 1971, (11), 

2397. 

26 Gysling, H.; Peterli, H. J.  (J. R. Geigy Akt.-Ges.). 1960, US 2936290 19600510. 

27 Faure, R.; Llinares, J.; Claramunt, R. M.; Elguero, J. Spectroscopy (Amsterdam, 

Netherlands) 1983, 2(6), 381. 



  S14 
  

28 Duffin, G. F.; Kendall, J. D. J. Chem. Soc., Abstracts 1954, 408.   

29 Molchanov, A. P.; Sipkin, D. I.; Koptelov, Yu B.; Kostikov, R. R. Russ. J. Org. Chem. 

(Translation of Zhurnal Organicheskoi Khimii), 2001, 37(6), 841. 

30 Butler, R. N.; Gillan, A. M.; Lysaght, F. A.; McArdle, P.; Cunningham, D. J. Chem. Soc., 

Perkin Trans. 1. 1990, (3), 555. 

31 (a) Lee, G. A. Synthesis 1982, (6), 508.  (b) Garcia-Raso, A.; Sinisterra, J. V.; Marinas, J. M. 

Polish J. Chem. 1982, 56(10-12), 1435. (c) Chen, Y.; Lam, Y.; Lai, Y.-H. Org. Lett. 2003, 5, 

1067. 

32 (a) Antilla, J. C.; Baskin, J. M.; Barder, T. E.; Buchwald, S. L. J. Org. Chem. 2004, 69, 5579. 

(b) Asaumi, T.; Matsuo, T.; Fukuyama, T.; Ie, Y.; Kakiuchi, F.; Chatani, N. J. Org. Chem. 

2004, 69, 4443. 

33 Nguyen, M. T.; Clarke, L. F.; Hegarty, A. F. J. Org. Chem. 1990, 55, 6177. 

34 Chetan, B. P.; Sreenivas, M. T.; Bhat, A. R. India. J. Heterocycl. Chem. 2004, 13(3), 225.  

35 (a) Kornet, M. J.; Daniels, R. J. Pharm. Sci. 1979, 68(10), 1331.  (b) Cosmao, J. M.; 

Collignon, N.; Queguiner, G. J. Heterocycl. Chem. 1979, 16, 973.  

36 (a) Nelsen, S. F. J. Org. Chem. 1984, 49, 1891.(b) Smith, R. F.; Otremba, E. D. J. Org. Chem. 

1962, 27, 879.  


